1290 Super Duke R, black 2019 <2019><EU><F9903S9>

ACCESSORY PACK
51445
OHNE ABBILDUNG TECHNISCHE DOKUMENTATION
WITHOUT ILLUSTRATION TECHNICAL DOCUMENTATION
DOCUMENTACION TECNICA
DOCUMENTATION TECHNIQUE
NOTE TECNICHE
&
T2, S
(“ -
7, & %
% T ' @
\ @ Yj
H L e
)
9 © ’ i f
> / e
> ;
°] % /(-
v ( : :> -y / i
<
S
<
Pos Part Number Description Additional Text Quantity
0 61312041200 MIRROR RIGHT CPL. 1.00
0 61312040200 MIRROR LEFT CPL. 1.00
0 58412080050 BRACKET FOR REFLECTOR 1.00
0 58412080400 Rear reflector red 1.00
0 0985060003 Self lock. nut DIN985-M6-A2 4.00
0 0021060003 Washer DIN9021-A 6.4 ONLY USA 4.00
0 0125050003 WASHER DIN0125-A 5,3 2.00
0 40006006000 WASHER 6MM 2.00
0 0966050163 OVAL HEAD SCREW DIN0966-M 5X16 2.00
0 0024060156 HH collar screw M6x15 TX30 ONLY USA 4.00
0 0985050003 Self locking nut DIN 985 M5 2.00
0 61308023010 SPLASH PROTECTION 1.00
0 0081050121 EJOT PT screw K50x12 only for US and SixDays 4.00
0 312305 DOCUMENTS BAG 2006 1.00
0 312313 KTM BALLPOINT PEN ORANGE 1.00
0 00063004202 PRINT LABEL 60X51 MM 1.00
0 60012081300 Licence fitting 1.00
0 00063099114 Pocket for operating manual 29 1.00
0 3210917 NOTEPAD 1.00
0 00063004012 HEADLIGHT MASK BOX 1.00




0 44011076140 CABLE TIE 140/2,5MM BLACK 1.00
0 20180189INT Sticker accessory kit 1.00
0 20180195INT KTM Bypack Folder Street 1.00
1 3213927EN Own.manual 1290 Super Duke R 2 1.00
2 61329099200 Tool set 1.00
3 53012024100 SCREW DRIVER L=105MM 1.00
4 60029070300 T-WRENCH WS=6/8/10/TX45/SK4X1 1.00
9 53012028200 GRIP ORANGE B&F 1.00
13 60012015000 HELMET LOCK 04 1.00
14 61329085000 HOOK WRENCH ECCENTRIC REAR WH. 1.00
15 61329083000 HOOK WRENCH MONOSHOCK 1.00
16 60012060000 GRIP FOR RING WRENCH 1.00




